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In the explanation of 1'% the X093 is, all 29891281 2°Rin agree that
2R was a N>

OVERVIEW

Our X713 states 02X W 7272 707 ORIWH 21PRT 172 X720 °XIN 177191, However, the
"9 is 07 that 1271 XX71AKY RN 17212; that all the DX711K agree that M YR M 2R,
Our nNHOIN takes 1ssue with this X073 of the r1"A.
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And the view of the ''1 is that we are not 2713 the word X918 (and the 2°R7K) -
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For perforce X237 previously maintained that 21°X was not »x~w -
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Since X217 previously said; ‘this is what 7w» said to the a%93», ‘does that
person still exist whose years are many like those of a tree, etc.”’. It is evident

according to X127 (an X71X) that 21X lived in 915 ¥IX, and was not XM, Obviously therefore
not all the DX MK agree that 77 YR 2K,

SUMMARY
X217 cannot maintain that 7177 DX 1 21X,

THINKING IT OVER

Why does m»oIn assume that according to X271 we cannot say M X 21K, since
he (obviously) lived in w13 yIX when the *"12 were 1272?" Perhaps he was a
descendant of the 2°79X vaw who were vy DX M7 and left o7¥» earlier and 21X
managed to settle in ¥12 7R

" Towards the bottom of R,0.

2 This is in reference to the 100 of PR OR ¥ 72 won.

? See “Thinking it over’.

* See footnote # 3.

> See 0°1w* NBOIN DO who adds the words (at the very end of maoIN) Y3 1T ¥ [17301] (1307).
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